
EE 230

Lecture 4

Transfer Characteristics and 
Transfer Functions



Quiz 3
A linear system has a phasor domain transfer 

function of 6  65o.   If the input to the systemے 
is VIN=5sin(3000t+25o), determine the steady 
state output voltage.
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Quiz 3
A linear system has a phasor domain transfer function of 6

 ,65o.   If the input to the system is VIN=5sin(3000t+25o)ے 
determine the steady state output voltage.

Solution:
( ) ( )( )ωγθωω jTPMOSS P

tjTVV ++= sin
( )oo

OSS tV 6525300065 ++•= sin
( )o

OSS tV 90300030 += sin



Review from Last Time
Distortion of major concern in many electronic systems

-THD is one metric that is often used to characterize amount of  distortion

Amplifiers are circuits that scale the input to a linear system by a constant

Sinusoidal steady state response of linear system given by

where TP(jω) is the phasor-domain transfer function
One of the most important concepts introduced in EE 201

Electronics and systems community seldom uses concept of phasor domain 
transfer function

Electronics and systems community critically dependent upon sinusoidal steady 
state response

What is used by the electronics and systems community ?
Why is TP(jω) seldom used ?

( ) ( )( )ωγθωω jTPMOSS P
tjTVV ++= sin
















































































